1/4" HEAT STREN'D GLASS 1/4" HEAT STREN'D GLASS 45 1/2" MAX. 46 5/8" MAX. s 3] g
.100" Interlayer 120" Interlayer FRAME WIDTH FRAME WIDTH k s
Safiex Clear And Color Glass Uvekol S m T
By 'Eastman Chemical Co.’ By ‘Allnex USA, inc.’ 9 1/2" MAX. 9 1/2" MAX. 0
1/4” HEAT STREN'D GLASS 1/4" HEAT STREN'D GLASS HEAD/SILL SEE SEPARATE APPROVAL HEAD/SILL r 4 <@ Z
4" MAX. FOR WDW. RATING cux |16, EE|Z
SILICONE SILICONE HEAD/SILL AND DETAILS 7 HEAD/SILL || = 2 ? B
SILICONE DowsL 992 SILICONE DoRORA B @ CORNERS @ l CORNERS |lg 5 % &|a
DOWSIL 995 PECORA 895 DOWSIL 995 PECORA 895 | | | | | | | Es.38|3
PECORA 895 PECORA 895 I 1 i 1% I I ) o lin] q ~ale
. - s T
y, il ~ (4 oo ooooooomme _):'% I Ko g
7 HI3 7 / v (N QLap
) \ - I Y, i 7, /i 89~
/ i M g AR QRud
I | [ e/ i S i 520
( i e i A | W/ / l§|§__ O’mmmg
I ] ool | I ! 37"/ MAX. I 1 1TE:
=g (2 19 / =g e = | }: S.H. WINDOW WIDTH 1[I & °2smg G
:%m 5 =%m / > 5 C1 V) / D i > mmm%w
o 2 / w |0 o) imn 0 D — < ] =T 4 / T < rzaw
NgE O — s ot : =18 x|t Lyl / o =18 CE3E g
&5 57 @ /o 3 ~ <§( g 2 i irl_:'"*:f* ————————————————— —11; ! w2 l+ z (e} _E‘ ‘?3
GLAZING OPTIONS T S ETT T I -8 A T S H400%
;"—'“ """"" Mz y i N g ZQs @
{; © ©|E i :1 | © oz -
" GLASS : . 4 4 1/ A <l , L . -
.040" ALUMINUM CLADDING r ZiE X X Il 2T Xl T Ly ! )
ADHERED TO GLASS W/ SILICONE SEE DETAILS ABOVE 25 33 20 ! = 28 2z |4 a I =
.040" ALUMINUM CLADDING TIT NWE %0 e | B —— T oLE — T 1 E— =9 g
Y oz e ADHERED TO GLASS W/ SILICONE Y TR N BN B Sy ST Ul 7 I =l£5 8
Z B £ .© 22 |F LlO ’ ol . o | < N e xiln~— <
So2 e SILICONE o By 3 — il A ol 3|4 — ! sl , R
. o wFT SEE DETAIL ABOVE - N 15 - ! 238 =
Qﬁ 2 XN 2 N f'“ v w83 9
N g B P m 7 1 :_:A:**ﬁ:: i L 2 i n 3
a4l f & N e
[ | K \ it == [ 2 ) o x
Jéu | Zhe = o
A \ L | 1 L \ - Lo cm
/ =l \ i < E =00
x| : SR s SNt 2R . 288 o
o / fl L |O .\ i ol g
S — I i Y -+ - wig3o 8
& @ / TR |- 72N : Nls&xa o
> f \ a L AN ; Wi e o
e <L) ®' ! : ® \ I
— "ALTERNATE GLAZING : ~13 58’
57 . N % { < OO ’}:—)
— 4 — O o= O
SERIES SMK-2/K-2 BREEZE ALUMINUM ENTRANCE DOOR ; y . I i . I i y L z 5892 ~
APPROVAL APPLIES TO SINGLE LEAF (X) DOORS WITH OR ' ' F ' ! | ' ' I =298 ¢=
WITHOUT WINDOW INSERT. SURFACE rRLIED %ol L
SEE SEPARATE APPROVAL FOR WINDOW CAPACITY. MAY BE USED 32 1/8" MAX. =zz 33 1/4” MAX. 222 |
LOWER DESIGN PRESSURES FROM DOOR OR SINGLE HUNG D.L. OPG. ¥ 8 D.L. OPG. ¥~g
WINDOW APPROVAL WILL APPLY TO ENTIRE SYSTEM. 42" MAX. 43 1/8” MAX. ololg
[V S PO O PR
THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE LEAF WIDTH LEAF WIDTH ~lgln
REQUIREMENTS OF THE 2020 (7TH EDITION)/2023 (8TH EDITION) FLORIDA EEE
BUILDING CODE INCLUDING HIGH VELOCITY HURRICANE ZONE (HVHZ). TYPICAL ELEVATION TYPICAL ELEVATION Solole
Ql
1BY OR 2BY WOOD BUCKS & BUCK FASTENERS BY OTHERS, MUST BE S
DESIGNED AND INSTALLED ADEQUATELY TO TRANSFER APPLIED PRODUCT * HEE
MAXIMUM DESIGN LOAD RATING = + 100.0 PSF MAXIMUM DESIGN LOAD RATING = + 90.0 PSF HE
LOADS TO THE BUILDING STRUCTURE. 1315155
ANCHORS SHALL BE CORROSION RESISTANT, SPACED AS SHOWN ON DETAILS (FOR SIZES SHOWN ABOVE OR SMALLER) — 120.0 PSF (FOR SIZES SHOWN ABOVE OR SMALLER) — 120.0 PSF _S’
AND INSTALLED PER MANUF’S INSTRUCTIONS. SPECIFIED EMBEDMENT TO BASE DOORS WITHOUT WINDOWS DOORS WITH WINDOWS .
MATERIAL SHALL BE BEYOND WALL DRESSING OR STUCCO. * 2llo[S181R]
LOWER RATING OF SINGLE HUNG WINDOW OR SINGLE DOOR SHALL CONTROL ols fg Q 5
A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY. AR
ALL SHIMS TO BE HIGH IMPACT, NON—METALLIC AND NON—COMPRESSIBLE. Sealed: 7/11/2023 FL #17682 8lg/<[o]o
. ./ L/
MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT ' >
COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE A~ CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND < R
REQUIREMENTS OF THE 2020/2023 FLORIDA BLDG. CODE & ADOPTED STANDARDS. INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT EVALUATION Qr A\ AR T
THIS PRODUCT APPROVAL IS GENERIC AND DOES NOT PROVIDE INFORMATION THESE DOORS ARE RATED FOR LARGE MISSILE IMPACT. PROVIDED ie//SHE DOES NOT DEVIATE FROM THE CONDITIONS DETALED S &
FOR A SITE SPECIFIC PROJECT, i.e. LIFE SAFETY OF THIS PRODUCT, ADEQUACY SHUTTERS ARE NOT REQUIRED. B ' 3 S
OF STRUCTURE RECEIVING THIS PRODUCT AND SEALING AROUND OPENING FOR B e oy VAL TION DOCUMENT WILL BE CONSIDERED INVALID 17 ) 53
WATER INFILTRATION RESISTANCE ETC. B g .
CONDITIONS NOT SHOWN IN THIS DRAWING ARE TO BE ANALYZED SEPARATELY, NOTE: O ENGINEER OR ARCHITESS WHICH WILL BECOME THE ENGINEER OF RECORD. (EO.R) 3 5%
AND TO BE REVIEWED BY BUILDING OFFICIAL. GLASS CAPACITIES ON THIS SHEET ARE FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
DESIGN LOADS SHOWN ARE BASED ON 'ALLOWABLE STRESS DESIGN (ASD)'. BASED ON ASTM E1300-09 (3 SEC. GUSTS). ENGINEER 10 THE P.E.5. ENGINEER SHALL SUBMIT 10 THie LATTER THE. SE drawing . no.
MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION SPECIFIC DRAWINGS FOR REVIEW. W15-18
IN ACCORDANCE WITH SECTION 1709.9.3 OF FLORIDA BUILDING CODE. D- THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF -
THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.
LABELING TO COMPLY WITH SECTION 1709.9.2. sheet 1 of 7




TYPICAL ANCHORS
SEE ELEVATIONS

“s  ERGEYDIST.

FOR SPACING\

4 4

<

1BY
WOOD BUCK

5
h
o
4

Jill
7

FRAME HEIGHT

®

SHIM

1/4" MAX.

LEAF HEIGHT

3/4” MIN. -
THROW BOLT—/ ;
PENETRATION

8 i
Ol ®
!
In 1i!
e
1| 1!
L
S g 1l
S il
Q
m l‘ II[
- I
2
RiE
1
A3
I’ II
@ J
®
r-——m—=— N

TYPICAL ANCHORS

N SEE ELEV.
NS o FOR SPACING
| Y
Lié}ﬂ%@J
[ g e
i U=
(___,J._,_.L,-._C- ) 7 ‘JE N

i |
| / L
3/4" MIN. TH#:V?@OLT a "

INTO SILL & SUBSTRATE

PENETRATION—" . <
EDGE_DIST.

A

=

I

ADA BUMPER THRESHOLD

TYPICAL ANCHORS
SEE ELEVATIONS

FOR SPACING\
N v’a‘ ‘-v“,b "-’T b ’ . L -
b EDGE DIST. P
— Tr—
>
e
s|=
. Iz
e |G
>
Bk A m \
Al Ml
{f
ti Il
gl E1G
| @ @ [
| i i i
| | | |
|| T (o) c__i_’_{__‘c_
L
.
i LJ
LJ & @

ALT. ADA BUMPER THRESHOLD

HI-RISE THRESHOLD

L

TETy

Fl1

18

=

1/4” MAX.

SHIM

METAL

TYPICAL ANCHORS STRUCTURE

SEE ELEVATIONS
FOR SPACING\
H EDGE DIST.

((a¥)

], J

SHIM

1/4" MAX.

1BY OR 2BY WOOD BUCKS AND METAL STRUCTURE NOT BY
‘ALDORA ALUMINUM AND GLASS PRODUCTS’

MUST SUSTAIN LOADS IMPOSED BY GLAZING SYSTEM AND
TRANSFER THEM TO THE BUILDING STRUCTURE.

TYPICAL ANCHORS: SEE ELEV. FOR SPACING

1/4" DIA. ULTRACON+ BY ‘DEWALT’ (Fu=164 KSI, Fy=148 KSI)

INTO 2BY WOOD BUCKS OR WOOD STRUCTURES
1—1/2” MIN. PENETRATION INTO WOOD (HEAD/JAMBS)

THRU 1BY BUCKS INTO CONC. OR BLOCKS
1—1/4" MIN. EMBED INTO CONCRETE (HEAD/JAMBS)
1—1/4" MIN. EMBED INTO BLOCKS (JAMBS)

DIRECTLY INTO CONCRETE OR BLOCKS
1—1/4" MIN. EMBED INTO CONCRETE (HEAD/JAMBS)
1—1/4" MIN. EMBED INTO BLOCKS (JAMBS)

1/4" DIA, TEKS OR SELF DRILLING SCREWS (GRADE 5 CRS)

INTO F.B.C. APPROVED MULLIONS
OR

INTO METAL STRUCTURES (HEAD/JAMBS)

(3) THREADS MIN. PENETRATION BEYOND SUBSTRATE
ALUMINUM: 1/8” THK. MIN. (6063=T5 MIN.)

STEEL: 1/8” THK. MIN. (Fy = 36 KSI MIN.)
(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR PAINTED)

TYPICAL EDGE DISTANCE

INTO CONCRETE AND MASONRY = 27 MIN.
INTO WOOD STRUCTURE = 1" MIN.
INTO METAL STRUCTURE = 3/4” MIN.

WOOD AT HEAD OR JAMBS SG = 0.55 MIN.
CONCRETE AT HEAD, SILL OR JAMBS f'c =
C-90 HOLLOW/FILLED BLOCK AT JAMBS f'm =

3000 PSI MIN.
2000 PS! MIN.

FL #17682

#8 X 3/4" SMS
~AT 3” FROM ENDS
AND AT MID SPAN

LJ

&

ALT. HI-RISE THRESHOLD

Sealed: 7/11/2023

oooooooo

o

)

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

[ SMK-2/K-2 BREEZE ALUM ENTRANCE DOOR (LM.)]

Aldora Aluminum & Glass Products inc.

(C.A.N. 3538)

FAX. (305) 262-6978

4250 Coral Ridge Drive, Suite 101

Coral Springs, FL. 33065

=
.
C

COMP—ANL\W15—18AAG )

|

|

|

Fax. (954) 784-6901

Tel. (954) 784-6900

J

by [description

(revisions:

04-—-24-15

date:

(nol date

®
~
M
P
53
It
@

|

S ———
drawing

W15-18

no.

chk. by:

sheet 2 of 7




©

1/4” MAX.

SHIM SPACE

==

beg—

=

TYPICAL ANCHORS
SEE ELEV. FOR SPACING

Il

__EDGE"DIST.

>y

- b

N2
L
®

EXTERIOR
D.L. OPG.
PANEL WIDTH
FRAME WIDTH
TYPICAL ANCHORS
SEE ELEV. FOR SPACING
TYPICAL ANCHORS
1BY WOOD BUCK FORSESEPECH% 1/4” MAX.
TO BE PROPERLY SECURED 14" MAX. X S
I SHIM
= BT
TYPICAL ANCHORS . = =
SEE ELEV. s
FOR SPACING \° =
p
— == =

’.’V'v - 7

P . a

8 <

Bl < K o
e J.

o o I
<

L1=1/2" X 1/4" X 7-1/2" LONG
ALUM PLATES AT HINGE LOCATION

#12-24 X 1-1/2"
FH THREAD CUTTING SCREWS
4 PER PLATE

Sealed: 7/11/2023

FL #17682

- 5y

f
C

COMP—ANL\W15—18AAG )

= |

(C.A.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION
ENGINEERS & PRODUCT DEVELOPMENT
9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173

TEL. (305) 264-8100

|

|

Fax. (954) 784-6901

(854) 784~86900

4250 Coral Ridge Drive, Suite 101

Aldora Aluminum & Glass Products Inc.
Coral Springs, FL. 33065

[ SMK-2/K~2 BREEZE ALUM ENTRANCE DOOR (LML)
Tel.

|

)

by [description

(revisions:
nol date

|

1

04~24-15

o
~
M
B
4
S
7

date:
chk. by:

|
F———
drawing no.

W15-18

sheet 3 of 7




(9v¥81 -G LM\INV—dNOD ) 1oe9-v8L (vs6) xo1 0069-v8s (v56) ‘1oL |[|[- ~
~ 8269-292 (S0E) "Xv4 O0T8-b9Z (S08) 1L G90¢s 14 ‘sbuudg |pion %
(8£58 "N'V'D) £LTEE VAIMOTA TAVIW LOL ®¥UnS ‘eAuQ 8bply 00D 0GTH <+

022 31INS ‘IAINA 1ISNNS 09€6 .
.* INIWEOTIAIA LONAOYH @ SHIANIONI Oul S1oNpoid SSDIY B winuilnly DIoply ToRe5ssE A | 5155 [ou T
E | NoILYHOJdH0D DOOUVA-TV || |[(TN7) 4000 JOWING ATV 373348 LW/eams | ) SuoisiAeD) )| SITYEYO eiop 5

/

.4 ..,:m,_a\h EREITRP
T T R T

4.

.4 L]

FOR SPACING

TYPICAL ANCHORS
SEE ELEVATIONS

FL #17682

° o
aaaaaa

1/4" MAX.
SHIM
—

@
Sealed: 7/11/2023

e )
|
_:_PwT

@

= »

s T en
e[ Len
|
|
!
!

AT 8-1/2" O.C. MAX.
36 1/8" MAX.
OPNG. WIDTH
F.B.C. APPROVED
IMPACT RESISTANT WINDOW
[ ——————~ SEE_SEPARATE APPROVAL FOR =~~~ =~~~
WINDOW RATING AND DETAILS
EXTERIOR
37" MAX.
WINDOW WIDTH
PANEL WIDTH
FRAME WIDTH

#10 X 17 SMS

O W isigrseas T
T L e d

SHIM

I
TYPICAL ANCHORS
SEE ELEVATIONS

FOR SPACING

WIHS
XYW ¥/ L

#10 X| 1" SMS
AT 8—[1/2" 0.C. MAX.

nno . )
222 ¢ b | 4 _
T & ‘o
MMM < ay | -~ | S - == Z @ v ety
AWS Q o ! g | LWHHHHHHHHHH: q@llﬁ I & ﬁﬂ e
L&W . m O & i { i I B I ettt nf ! | I....._ =
Suz Tl e Svi30 ONY ONILYY MOONIM— — — lo S B
gu " 404 WAOYHddY 3Lvivd3s 33S @
= Lo MOGNIM INVISISIY LOVdWI o
Sy Z5Z Q3A0NdaY "0'8'4 @ (=)
i LHOEH MOGNIM 0d
NEAH _ XYN L.£9 M
JWW
o HJOIdHLXH
THOEH v

1HOIEH 3WVY4




REGENT #4002

[ IR
SEALANTS: ITEM # PART # REQD. | DESCRIPTION MATERIAL | MANF./SUPPLIER/REMARKS g U g
T T A e . o0
SMI~006 1 FRAME HEAD 6063—T6 - -
ALL FRAME AND LEAF CORNERS AND INSTALLATION SCREWS m I
SEALED WITH SILICONE 2 SMI—-005 2 FRAME JAMB 6063-T6 - S f
: ~
PERIMETER OF WINDOW FRAME TO DOOR LEAF AT 3 SMI-023 1 BUMPER THRESHOLD 6063-T6 | — Z 3F=
e
EXTERIOR AND INTERIOR SEALED WITH SILICONE. 3/8” HEX STEEL TIP A SMI—036 1 ALT. BUMPER THRESHOLD 6063-16 | - O 8 E
4 SMI-024 1 ADA THRESHOLD COVER 6063~T6 - E g =g\
4A SMI—038 1 ALT. ADA THRESHOLD COVER 6063-T6 - s o § g 3
wnd O
BOLT GUIDE 4B SMI—037 1 ALT. ADA THRESHOLD COVER 6063-T6 - 8 @ g ¢
»
LOCKS: 5 SMI-012 1/ LEAF | TOP RAIL/MID RAIL 6063-T6 | — oAy 32
6 SMI-013 1/ LEAF |BOTTOM RAIL 6063-T6 - 05z
M~
OPTION 1: 7 SMI—011 1/ LEAF | DOOR STILE 6063~T16 - 03 W o
8 SMI—008 4/ LEAF | EXTERIOR GLASS STOP (DOOR) 6063-T6 ~ o ) E: 3
THREE POINT LOCK SYSTEM WITH S PLY HOOK LOCK 9 SMI—007 | 4/ LEAF |INTERIOR GLASS STOP (DOOR) 6063-T6 | - oeog §
BOLT REGENT 2222, KEY OPERATED ON EXTERIOR s i ora 3/ 500 | DOOR SToP BASE 63T o ?, L 4
AND THUMB-TURN ON INTERIOR, LOCATED AT ] 8
34" FROM BOTTOM OF PANEL STEEL. ROD WITH 11 SMI-015 3/ DOOR | DOOR STOP COVER 6063-T6 - < H (?3 u: g
THREADED ENDS 12 SMI—004 |1/ ANCHOR| FLAT FILLER, 3" LONG 6063—T6 - 5 585 ®
a4
13 SMI-105 2 SHEAR BLOCK 6063-T6 - <Z8s
THRESHOLD BOLT 14 SMI-G04 AS REQD. | GLAZING TAPE FOAM FRANK LOWE -
R ——
14A SMI-GO5 AS REQD. | GLAZING TAPE FOAM FRANK LOWE =
148 SMI=G11 AS REQD. | ALT. GLAZING TAPE (3/18" X 5/16") FOAM FRANK LOWE f g S
14C SMI-G12 AS REQD. | ALT. GLAZING TAPE (1/8" X 5/18") FOAM FRANK LOWE = RS ©
” A s
3/8" HEX STEEL TIP 15 SMI-033 3 FALSE MUNTIN BASE 6063-T6 - S "g‘ o R
fan}
16 SMI-G03 AS REQD. | SETTING BLOCK (3/8" X 1/4" X 1/2" LONG) EPDM FRANK LOWE, (DUROMETER 85%5) w835 7
O in
17 £20510K AS REQD. | BULB W'STRIPPING VINYL ULTRAFAB, (DUROMETER 65+5) ZI& %52
BOLT GUIDE 18 £23610K AS REQD. | BULB W'STRIPPING WITH FLAP VINYL ULTRAFAB, (DUROMETER 65+5) = 29 S X
19 - 2/ LEAF |3/8” THREADED ROD WITH NUT STEEL - ; g 'DCQ b
20 - 2/ LEAF | FLUSH BOLT GUIDE ST. STEEL | - = .
OPTION 2: A 2|8 ol o
21 - AS REQD. | PUSH BAR - - wilg® .8
THREE POINT LOCK SYSTEM WITH 4 PLY HOOK LOCK 2 - AS REQD. | PULL HANDLE - _ é S & g ©
— f— <+
REGENT NO. 206~3P, KEY OPERATED ON EXTERIOR 3 ~ 5 THRESHOLD CLIP ALUMNUM | 27 X 2 X 1/8" X 1" LoNG S| EvE 3
AND THUMB—TURN ON INTERIOR, LOCATED AT 24 4/ LEAF | SUPPORT PLATE (1-1/4" X 2" X 1/8") ALUMINUM YN 3& =
36” FROM BOTTOM OF PANEL . = <oOoun ¥
26 |#12 X 1-1/2"|2/ CORNER{ FRAME ASSEMBLY SCREWS - HEX H SELF DRILLING JlPos
]
STEEL ROD WITH 27 #10 x 17 AS REQD. | GLASS STOP SCREWS AT 4-1/2" 0.C. MAX. - FH SMS =845 5
THREADED ENDS - Zig <O ®
28 #10 X 1/2” | AS REQD. | THRESHOLD CLIP SCREWS - FH SELF ORILLING ) )
—
29 #8 X 3/4” | AS REQD. | DOOR STOP SCREWS AT 8" 0.C. MAX. - FH SMS ~
THRESHOLD BOLT 30 #10 X 5/16” | 2/ GUIDE | GUIDE INSTALLATION SCREWS ~ FH MS
31 SMI—-025 1 HI-RISE RHRESHOLD COVER 6063—T6 -
31A SMI-039 1 ALT. HI-RISE RHRESHOLD COVER 6063—T6 -
g
o
o
# 12 FH SELF TAPPING SCREWS =
4 PER HASP S
i{ ) p 1—1;2" X 1/4" THK. R4
> ’ 7-1/2" LONG
g / STEEL REINFORCING 2
~ / AT HINGE LOCATIONS .
____[ // [ 8
/ Qo
J/ oo
/ FL #17682 3o
3 Sealed: 7/11/2023 e
N ! 0
N NI Y BN < o
R \ AN &
RIS HEHN
~ \ Ll s &
N g ° ¥
. o Q [ ey
}___ % h¢] 7] o o
o)
? drawing no.
4-1/2" ST./ST. BUTT HINGES W15-18

sheet § of 7




4.500 - i
250
(g3} (¥} TLGBOT
1,750 6 ol 094 1 1.464
I=
125J 4.875 5.000 250 045 1<>
: 3.875 500
FRAME HEAD
O (15) FALSE MUNTIN BASE (13)  SHEAR BLOCK
r»mso—» )50 i
£ 1
l_@ 125 o 1.784 — 1.519
1 } T.187
{ j
—=|[=-125 (s) TOP RAIL/MID RAIL ! —062 e T s
562 E =—;33—£ —
3.712 4.500 1,784 — ! OI L ! 050
('125 1.444
; }
2 1 064 el DOOR STOP BASE (11) DOOR STOP COVER
250
FRAME JAMB 4.875 o
@ [“1.527» 1.262 545
6.500 6.375 | 219 r
3.697 ' -500 tﬁ%—{ é ' .5%30
119 - .281j / -t ’P —el— 062 ?
| 125 089 AJ 1.106 7% 4390
378 , 3.429 —2.255 5 . |
L ‘J
® ® &)
@ FLAT FILLER @ BOTTOM RAIL BUMPER THRESHOLD ADA THRESHOLD COVER HI-RISE THRESHOLD COVER
1.545
«T«.ms 3.339
.094 o
1.500
g” 7 r»1.556«> 1.340 [« [o 062
1.570 331 ) ) E { 2.428
r | : 67
_426 T 1875|500 ﬁﬂ—jw,_j)—_ﬂﬁ 414 jr T 500 I S| 2.870
1 i . 080 T 070 ! OJ
7 : 1.608 = ]
lo1.784 125 3913 —
e
EXTERIOR GLASS STOP (DOOR) @ DOOR STILE ALT. BUMPER THRESHOLD ALT. ADA THRESHOLD COVERS ALT. HI-RISE THRESHOLD COVER

—{ 814 =
j o062 !
1.224 1.337

% :
e 875

(3) INTERIOR GLASS STOP (DOOR)

Sealed:

7/11/2023

FL #17682

a
f
COMP—ANL\W15— 18AAG |

(C.A.N. 3538)

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

9360 SUNSET DRIVE, SUITE 220

MIAMI, FLORIDA 33173
TEL. (305) 264-8100

(

|

|

Fax. (954) 784—6901

Coral Springs, FL. 33065

[ SMK-2/K-2 BREEZE ALUM ENTRANGE DOOR (LM.))
Tel. (954) 784-6900

|

Aldora Aluminum & Glass Products Inc.
4250 Coral Ridge Drive, Suite 101

)

by [description

(revisions:
(nol date

|

04-24-15

w©
~
M
P
©
o
®

date:
chk. by:

)
drawing no.

W15-18




(9wv81—S IM\INV=dINOD ) 1069—¥8L ($56) "xP4 0069—¥8L (¥56) 181 ~

8L69-29Z (S0E) 'Xvi 00T8-v9Z (G0L) 1AL G90¢e 14 ‘sbuudg puo) 5

U (8s88 "N'V'2) ELTEE VAIHOTL TIANVIN 1Ol @uNng ‘aauq obpiy |DI0D 0GZH ~
0T 3LNS ‘IAIMA LISNNS 09E6 .

.h ANIWGOTIAIA LONAOHC » SHIANIDNI OUl SpNpald SSDIY R nuitlinly DIoply Uondiiossp Aq T o105 Tou m

E | NoILYHO0JdH0D DOOUV-TV || [(TW7) 4000 JNVIN3 NIV 37338 H/Tms e SUGIS o) =

AV
«©
Ne}
o~
o
=
bt
Y A
.
oY
o
N
~~
A
b
~~
N~
o
o o
] ©
W [}
= 7))
O
al
O
T
L] x|
= L
<z Z
o &
L O
O
=
&
O
a
Lud
=
=i
o
(I
|
L]
/ Z|
/ %
\ O
O
"
<
h
d
e
O
O
A
@
f j
mw%v ) v
=
— Y : ) o4
S
L)
ot T 2
< & ﬂ% <
o8 o
s o
. =
- ]
o -2
=<5
)
w
[a
R
0
X
(@]
O
? é\\




